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1. Haiinure 3nayeHue BbhIpaKeHHA:

a) V144 + 50,64 ; a) 440,81 + 196 ;
6) (4\/5)2; , 6) (3ﬁ)2;

») V01625 -6/ 5 0,04 81 -7,/

2. Broiuucaure, HCIOJIB3YHA CBOMCTRA
KOPHA:

a) V11 -/44; a) V7428 ;
ey Y
Tl 1
B)‘\/6—4. B)\/3_6.

3. Periute ypaBHeHHA:

8) Vx = 8; a) Vx = 6;

6)

6) x2 = 8; 6) x2 = 6;
B) x2 = -3; B) x2 = -6;
r) x2 - 2,25 = 0. r)x2-1,21=0.

4. YKaxuTe Bce LeJble YUCIa, PACIIOIOKEH-
HEbIe HA KOOPAUHATHOM IIPAMON Mexay
YycaamMu

J2 us. 1m +10.

5. YrpocTuTe BBIpaKeHUN:
a) 2aVa? | ectm a > 0, a) b2yb? | ecnm b > 0;

6) —V49c? , ecam ¢ < 0. 6) —V81d? , ecin d < 0.




